
Multiplication par 0,01 (F)Trouvez chaque produit.
95 × 0,01 = 42 × 0,01 =
5 × 0,01 = 50 × 0,01 =
93 × 0,01 = 88 × 0,01 =
60 × 0,01 = 38 × 0,01 =
80 × 0,01 = 99 × 0,01 =
56 × 0,01 = 20 × 0,01 =
5 × 0,01 = 97 × 0,01 =
46 × 0,01 = 69 × 0,01 =
40 × 0,01 = 5 × 0,01 =
43 × 0,01 = 57 × 0,01 =
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Multiplication par 0,01 (F) SolutionsTrouvez chaque produit.
95 × 0,01 = 0,95 42 × 0,01 = 0,42
5 × 0,01 = 0,05 50 × 0,01 = 0,5
93 × 0,01 = 0,93 88 × 0,01 = 0,88
60 × 0,01 = 0,6 38 × 0,01 = 0,38
80 × 0,01 = 0,8 99 × 0,01 = 0,99
56 × 0,01 = 0,56 20 × 0,01 = 0,2
5 × 0,01 = 0,05 97 × 0,01 = 0,97
46 × 0,01 = 0,46 69 × 0,01 = 0,69
40 × 0,01 = 0,4 5 × 0,01 = 0,05
43 × 0,01 = 0,43 57 × 0,01 = 0,57
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